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Master of Arts (Economics) 4" Semester
1059

Opt. (v) : ADVANCED ECONOMETRICS
Paper : MAEC0O-403 & 404 (In all Mediums)

Time Allowed : Three Hours] [Maximum Marks : 80
Note :— Attempt any TEN out of FIFTEEN questions of 2 marks

each from the first compulsory question. Attempt any ONE
question out of the TWO carrying 15 marks from each unit
i.e. four questions in all. Use of non-scientific non-
programmable simple calculator is allowed.

1.  Attempt any TEN of the following :

(@)
(b)
©
(d)
©
®

®

(h)

What do you mean by correct specification of the model ?
What do you mean by measurement error ?

When is a model called encompassing model ?

What do you mean by dichotomous variable ?

Discuss any two advantages of using panel data models.

Why the random effect model is used for estimation of the
parameters of a panel data regression model ?

What do you mean by the use of OLS in dummy dependent
variable models ?

Discuss the need of identification in simultaneous equations
models.
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() When the use of 3SLS is preferred over 2SLS ?

() Differentiate the terms weak stationarity and stationarity.

(k) HowADF equation is different from DF equation of analysing
stationarity in a time series ?

(1) Whether ARIMA models are linear in nature ?

(m) Do you think VAR models are useful in case of non-stationary
time series ?

(n) The bivariate cointegration is a desired property in classical

linear time series regression model estimation. Elaborate.

(o) Do youthink VAR is an identified model ? If yes, elaborate.
2x10=20

UNIT—I

Discuss various tests of specification and misspecification of model.
15

Do you think dummy variables are useful in controlling
seasonality ? If yes, then discuss the same model in detail. 15

UNIT-1I

Differentiate the fixed and random effect models of estimating panel
data models. When the use of fixed effects model is suitable over
the random effect model ? 10+5=15

Differentiate the logit and probit models. Which model is suitable
for population behaviour based studies analysing the impact of
many variables affecting a dummy variable representing farmer
suicide (1 if the respondent belongs to the family of victim of suicide
and 0 otherwise) ? 10+5=15
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UNIT—III
6.  Discuss the rank and order conditions of identification in detail.
s 15
7.  Discuss the use of 3SLS model with a suitable over-identified
model in which all component equations are over identified. 15

UNIT—IV
8. What do you mean by forecasting ? How Box-Jenkin methodology
helps in forecasting for h period forecasting horizon ? 15

9.  Framea VAR model with 3 origin stationary variables X, X,, and
X,.Also formulate the same VAR in matrix form. Differentiate the

structural and reduced form VAR models too. I+5+5=15
(*= wmemm)
A - YT d@r 137ed B 3@ oy ¥ uge # ¥ @ g
Y, YoUh YT H 23F 21 8 g H = g Ry g
21 374 § WE YT H IUF HL| TAH 99 B 15 3F
g | TR-a9e, IR-IHed T dadhde] & IHn @l
FAfT 2|
1. el # & #8 ff @@ 997 R -
() Alsa & @wer ffde & w1 9= € 7
(@) 79 Afe & o F IByE B 7
() T& #isd H WG Alsd Fd F8l ol & !
() R =X § smuE Fur aed B O°
(¥) ¥ ST Al F ITM FXA B fber off A wHR W
a9 wR |
(F) @ ¥ o1 e #@isd & Amdst & s & forg
UG YuE Hised & I H fRr @ g7
(®) s (dummy) 3f¥d =X #isd ¥ OLS (Nwdwd.) &
ST ¥ SO F ARy B 7
(F) gHeifcie Afsd ¥ U89 @ IEEHHdT 9T =@El He |
(@) s 2SLS 9X 3SLS & IWM w&e far smar 2 7
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() Rox i wooik Row & Pl § sige X1

() ADF §Hi&u T §9% S@cn H fageionr €298 %1 DF
e § &9 B9 B 7

(3) 1 ARIMA #isel ypla & e & ?

(3) Fu1 MUl AT B fF R-ReR g gaen & AW A
VAR #isd Swnft & ?

() saRue g wey Was g9y oo gfmA Hdisd
FAE ¥ T dfod Hufd B oaren &

(U7) F9T YA AT & fF VAR T&F GBHAT g AlSe 8 !

gfe B, @ T A HR | 2x10=20
eI

Asd & RAfde IR g el & f(Bfr gdemi ) ==t

&Y | 15

T AR AT B S R IugE wHE H FEBE
¥ I € 7 gk B @ W Ated W fRwr & == w3
15
gfe-I1
9 ST HisA F FTAA @A @ FfEd AR Fghed ywE
Hisd # AT FY | FF (67 ThaC AlSA D HUL s Thaed
Afsd &1 ST 3T BT B 7 10+5=15
dife R qfde Afsa & 3fax #X | fham smeHscr sH =%
F W T YWfad FQ B, ISP TAG@ el IATEIRd
JouA &1 Rwawn w3 F g #7 @ Aisa g 2 7
(1 3R yfierd s & R@R gRer & d&fd 8 ok
0 3r=2e) 10+5=15
-1
TEE # W AN wH @ Rufedl ) R § wmt wR
15
G- Alse & @Y 3SLS #isd & ITH T

g
aai | PBEH o e wgum N weEH A TR B
15
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8. W%mw-ﬁ%?ﬁm—wm
H safr & sfsgerh fifos & fog gafgem & #eg #xdt
g ? 15
9. VARHSE @1 3 qa fax = x,, x, I x, $ ¥ HH F|
M wH H ff I VAR F PEg HL | qEATHD IR

#7 fFy M ®mH VAR #isd & @9 fax T AR |
5+5+5=15

(et nigee)
32 — Ued yms' & JE ©F YyHS &9, 999 YFS © 2 nid
5 m3 ufgsT yrs st 31 99 gfee f&e° fea yms
& 9% 9¢ I8, U9 YRS IJ| I yHs € 15 nix
I5| Fo-fefomiea AT-USITHES AUES ABIBCT ©f
TI3 & nifam T

1. fonafsfuz &8 e =R a9
®) 3% ¥ At foguez 3 393 & I T ?
() WUz & TSt 3 I9ET o 3w T ?
(®) fox W% § »iUfex HES ae fagr A 7 7
(F) fsacHA ITTE® g9 ITF of 3 T ?
(@) o8 32T HS®' € T93° 96 € € I ©F I S|

@) Ua® T yIIgus H'SS T HUEST T niew BT 38 yge
H3% o =93 fa8 gt At & ?

(H) H nofes [GeEs HEE 9 OLS & 93 3 303
at 3= T ?

(@) FHIE wEUs HESS o uge € 3 99 I99 &9
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(w) & 3 WEneAE (SLS) € 293 2 wmenH (SLS) &5
fammer ure 13t At 3 2
(%) Afad 3 IHH9 Afag uet &8 »izg ad|
(@) 2.3TAT. (ADF) mitags ffa AR &3t femdre remadt
@ stoe. (DF) AHiees 3 far 8 3 2
() df €I (ARIMA) H3® 393ge9 6 ?
(7) o 3078 Baer J f d9-ASHAST AN HidH € HHS &9
.29, (VAR) H3®% ®gefed demit 76 ?
(3) TElRdiEe dffecaans, ffa awHa® Juag AN A
faaroms H3® nivws o ffa AT afeee 91 ferf3z
9 |
(®) of 3078 &I J fa VAR a varfenr fomr wss 3 2
7 o, 3t fenfzz 91 2x10=20
gfee-1
2. H3® T AURSIAEs ni3 a83 faguras © fefds 2ret & ggur
el 15
3. o 308 & J fa 3 T Esw HmHiees § dew dds 9
Quualt g5 ? & of, 3t BF H3® § femwe e &R 15
gfse-I1
4. Us® T 3T HSS' T view HIArQE T AETE! w3 §3931E yIw
H3% &9 »i39 AuFe ad| Rfag yset a8 Hss o 93
IB YIR TH HSH © ngds de ger 9 7 10+5=15
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5. ®fae w3 Yfge W3s fegag »i39 a9 famAs msHI=3nm
3Ht 99 & froz 89 ygrfe3 a9t 5| Bust € AshunT feearg
3 gz muts © ferdre 96 &ei fauz™ H3s Buwas
T 7 (1 »ER YISt weHdf3nr € fiare ufses &% A3

I I 0 »Eg &) 10+5=15
gfse-I11

6. YUETE T I n3 WeH e’ FI3T g9 3= AfI3 TI9T 9|

15

7. 3 nmA®AA (SLS) H3® & <93 § & gae U9 UsgE I8
H3® &% fegrs, AR few A9 nigus & uge 3T aret I
15

gfse-1vV
8. Sfeygsl 3 393 ot = T ? FEA-wefas Yfafonr st
h fime € ya= nigHs € nwigHs ®ET feugst 96 <9
Hee® &9er J ? 15
9. 3 u® AfET I X, X, »3 X, 5% £ VAR H'S& TIH &9 |
Hefoan gu feg & fei VAR ©F HaesT a9 | OIS »is wehf
T9H VAR HW3® fegag »i3d AurRe a3 | 5+5+5=15
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